i 10 200 400 600 800 1000m| L.

{0 2000 8000 m |

| 4000 6000
J:_'.- ——— | 1 IR e e e
1:200000 Rl | = 1:25000
W e i | !
(1/200,000) (1/25,000)
BARRDIESR AN
ERES 44
Rz —1.0th) = N
THREFERRE (B ki ok
BN X% AR5
AR 7E Hh MERAEMETEtEHFAEE. LR, EEHE. TR, #©y)) £ 210, 2I0F45, G5, KA.
HEFIER /A, R ) £ RUERIETE

CORG, ELtEREROKZEZEC. RREEITOEFHHR25000% VEFMEH20BEERLLLOTHS, (KBES HLiFE. £8595)




PN

S

%
£ i

G
)7%

oy

Sl

e e L o b
s e o sl

R

e ey

v

/ s MR R R R e “ﬁ ..... “ %%2 -
T EE MBI oMy an e e e e e e i
DS R R e B ot .
R ’ ° —— )
T = ) ~. MR ES
o ' — — 7 mmTHD
\ L o wiI HBRYBE
J - S nem R G
e

0 25 50 100m
]

B —2() IHXETERRE XX ‘ ‘ ‘

ﬂ‘ﬁé%ﬂ)‘ii;’fg’_‘%%:%wgiﬁ:?% ‘ AN BRRROESR | #iEn EHRES 44 G 1
ERES #1265 b Pec £ AR

wR
_ WERALKEf-C B A AEE . IR, EAE. TR, 89
1/2500 HRFEABE | 4M2EIAUE A I BT BiE. KA. KA A, R ERERATE




AR

5 b ANR 12

g0

%3

/.

/A

S
™
9z
S
e
&

4=

MR XEX

£449
pIRE

w

HX—20h) £




HRINE (202)

«

<

IR

EDL

=
B

EERREEFOH

<4<
Py

s

w

sl

[TIT TTTTIT M.M
, - ZE
- = 5
¥ o ® g3
5E K — |&
= F = 5
mr o s
_ 2 E 35 =«
= 3 e 4@
= SH | = £
2N m = _E.nw
2 = L i m ¥
R - E i b oA K
I | m e
| 2 @ o
1 I = Mtu
ol | 7
e 8 E5
£3
ol | B g
~ <+ | |E3
I | < =@
oL
f
I - S
| i | <k
o
| > Ll i B & E
Bl
R o
<
i s
o e Y
- o o lw | @
e Tlela
v oo AR
o B 2|
: ;i m
e & |
. - m | |
R Lciend & |9
5 . o
o o - o
> . o
- e < R
i %ww = =
; e
s S TR
e i e
S
-
% X
: fit:
- / =}
= o
- e b
: s W%
e ﬁm. k=
S R (x|
= L=
e st
e Eiio
, W
e B
- o=
e S BH
e e e
} L . ®
B s e Bixi
S W Do
6 e ‘ f\ Hin
o “ A ,,
e H \
i w \
Wwwn S S K2
- )
S v
|
®
Xl
7"
X1
®]
F<l
o
b
a
H
£
o
|
w




‘;”7// %
-

G

X R 5
L e
\‘t\\s\\t\ R \‘tﬁ\\\t

" . ¢ " : v 4 |||n||} B Y A
B —20) IHKEFERRE KGR

0
BN XA AR




